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Simplify.  

1) −
15

𝑥−3
=  2) 

2𝑥4

−3𝑥−2
= 

3) −2−5 = 4) −
6𝑥−4

3𝑥
= 

5) 
3𝑦−4

𝑦−2
= 6) −

8

𝑎−2𝑏−3
= 

7) (−
𝑥−6

𝑥−2
)−2 = 8) −

12𝑥

4𝑥−3
= 

9) 
7𝑏

−9𝑏−2
= 10) 

5𝑝−3

25𝑛−3
= 

11) 
−25

𝑥−6
= 12) (

8𝑥−3

2𝑥2
)−3 = 

13) 𝑤−5 = 14) 5𝑐−3 = 

15) 
1

−𝑥−2
= 16) (

−2

−5𝑥−2
)
−1

= 

17) (
5𝑥

𝑦𝑥2
)−2 = 18) 

−3

𝑥−2
= 

19) 𝑏−2 = 20) (
−3

−5
)−2 = 

21) −𝑧−4 = 22) 5𝑥−4𝑦−2 = 

 

https://testinar.com/article/Exponents_and_Radicals__Negative_Exponents_and_Negative_Bases_Course
https://testinar.com/q/mu4i5wku221
https://testinar.com/
https://testinar.com/
https://testinar.com/
https://testinar.com/


 
 

 
 
 

Name: 

Date: Negative Exponents and Negative Bases 

QUIZ ? MORE ? 

Testinar.com 

So Much More Online! Please visit: testinar.com 

Answers 

Simplify.  

1) −
15

𝑥−3
= −15𝑥3  2) 

2𝑥4

−3𝑥−2
= −

2𝑥6

3
 

3) −2−5 = −
1

32
 4) −

6𝑥−4

3𝑥
= −

2

𝑥5
 

5) 
3𝑦−4

𝑦−2
=

3

𝑦2
 6) −

8

𝑎−2𝑏−3
= −8𝑎2𝑏3 

7) (−
𝑥−6

𝑥−2
)−2 = 𝑥8 8) −

12𝑥

4𝑥−3
= −3𝑥4 

9) 
7𝑏

−9𝑏−2
= −

7𝑏3

9
 10) 

5𝑝−3

25𝑛−3
=

𝑛3

5𝑝3
 

11) 
−25

𝑥−6
= −25𝑥6 12) (

8𝑥−3

2𝑥2
)−3 = 64𝑥15 

13) 𝑤−5 =
1

𝑤5
 14) 5𝑐−3 =

5

𝑐3
 

15) 
1

−𝑥−2
= −𝑥2 16) (

−2

−5𝑥−2
)
−1

=
5

2
𝑥2 

17) (
5𝑥

𝑦𝑥2
)−2 =

𝑦2𝑥2

25
 18) 

−3

𝑥−2
= −3𝑥2 

19) 𝑏−2 =
1

𝑏2
 20) (

−3

−5
)−2 =

25

9
 

21) −𝑧−4 = −
1

𝑧4
 22) 5𝑥−4𝑦−2 =

5

𝑥4𝑦2
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